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R2 = 0.916
m=0.908 +/− 0.0749
intercept=1.79 +/− 1.45
p = 1.38e−29

1: mb1 Slater analysis (original)
(54 matching nodes)
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R2 = 0.918
m=0.922 +/− 0.0735
intercept=1.75 +/− 1.35
p = 5.22e−31

2: mb1 Slater analysis (corrected)
(56 matching nodes)
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R2 = 0.715
m=0.931 +/− 0.158
intercept=6.67 +/− 2.94
p = 4.38e−16

3: mb8 (MrBayes uniform node age prior)
(55 matching nodes)
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R2 = 0.959
m=0.8 +/− 0.0461
intercept=0.519 +/− 0.817
p = 3.22e−36

4: mb9 (mrBayes SABD prior)
(52 matching nodes)
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R2 = 0.929
m=0.811 +/− 0.0598
intercept=0.827 +/− 1.16
p = 1.05e−32

5: mb10 (MrBayes BDSS prior)
(56 matching nodes)
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R2 = 0.938
m=0.771 +/− 0.055
intercept=1.12 +/− 1
p = 7.35e−32

6: r1 (Beast2 BDSS prior)
(52 matching nodes)
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R2 = 0.924
m=0.778 +/− 0.0633
intercept=0.74 +/− 1.2
p = 1.91e−28

7: r2 (Beast2 SABD prior)
(50 matching nodes)


